EFAL—F AV

1w B R+ TR
Zix &N FRE R+ TR
E2
I &2 Fay/R—X 52
TTH  #sA Fay/NX—X E2
52
FIFT ¥ JREHSR B1
ElE RE J REAAR 54(3)
KPR BN |7VU-—
1I/hEF Fl= 1—FETTA
B1
NHE OE¥ |EFo—v 54(2)
RE  B%& Y74 XTC B1
51
i KEB TEAM C
TER 2 TEAM C D1
51
i TDK
2R #HE I—hETTA
D1
BIR EALE THTC 50
I /N THTC C2
54(1)
=# F8 7Y —
EAR KK |YrF74XTC
EER MR RET&AT D1
2|fxfE Tt & 51
A2
=B EBIFE |x&5TC 53
EBE W ES5TC A2
52
AIE  [EfE 7Y —
i % S =7 7 —



BFBrF—F XU F

A B KRB
VTS KC'S

A3
WHE  FEX oy $ v ZTC 51
EiE K& Loy H > ZTC

D4

LY IS S Wy ZTC 50
EiE I B KRB D4

52
FEE M2 KC'S
Ng Mz B KRB

D4

HWEE 1A X 53
BA = T T

D3
=E &4l THTC 50
EE Bt 7Y —
Bk BLSE TDK E3
AR B—8B Y Z4XTC 54(4)

E3

B K gy B RTC 54(1)
TR LT Iy Y ZXTC E3

51

Av—FTC

W |
|
o | 2

T

Av—FTC




ZFAL—F A b

Al/NEEIR AT REEA—>TC
1|l X7 BEY—Y4 KTC
Al
FI/NAfR 8% [LixvyH > XTC 51
21eE S EHE [Fav/—X E2
54(1)

E[=F HBETF &EDTC D2
2| RRAE EEF |[KER—TC 54(1)
Bl#sA MR=F |B.LTENNIS
17KE &S TEAM C

D2
DIKAB BEF |&RTC 52
2ERE T AAC D2
Clge =Ex FiBis &b TC
1|Ad #4«F [KC’'S
D|XH =F TEAM C
IlBeR & >4 XTC

F1

Cl/hm ZEF ATA 52
2|BH BF EFo—r El

50
E|=F EBER HEFATC
1| R&E e |HATC
Bl#il E&KF |[AAC F1
20 bFF  |MREIRIAE 54(1)

B2
Al#p o B..TENNIS 53
2|18 ALEE MNHEHE F1

54(5)

FIlEH ¥ AAC
1|IEFR DeH KC'S

El
52



ZFBr—F X b

B E=&RT ALTF
TR OEMF [AAC
A3
EBE BT 71— 54(2)
P8 & 7Y — F4
54(3)
S8 W Iy B ZXTC A3
3| AR EX inty + 53
E&HI B I—FETTA
B&N #F |AAC D4
51
BH FER |KB7T7F—LTC
R &F ALTF
w BFERF [THTC
=@ LIh THTC
D3
LA ERF |wills 51
=H IRT GTO
B E-F [PBEEEHEETC E3
all ERF AAC 52
E3
Al BF 7Y — 53
WNE EF 7= E3
52
FI5%F BA:E aI—hFETTA
3|HEME =B |7 —

E3
50



EFFEY -
A K4 & 1 2 3 4 B | at | B8/2 K [=Xiva
i BB 25 25 51 9
NEERET EPNEEE 1, s | s
A =X KC’S 20
B =£57TC 5 2 45 53 14
g L 2 2 | 1 0.5833| 2
T H TES5TC (5) 24
EE = KEF+EmE | 52 54 45 14
3 T = waﬂiwf ? 1 056 | 1
ik &N MR+ 7R (5) (1) 25
=5 F x> ZTC| 15 35 5 4 9
g [BEE s 1 | 2 0.3913| 4
B ILAT Loy B XTC (1) 23
B K% i 1 2 3 B | af | 5/4 = [[=Kiva
=r = 7y — 60 62 12
| RERBEA 2 0 0.8571| 1
B F)E I FETTA 14
EE T KETHET 06 6 4 6
i >\zu B Mﬁﬂifx)jﬁ 1 1 - 5
ME Tt TR IEFT 16
=L % LrvH > ZTC| 26 46 6
5 [P BE A 0o | 2 03333 3
S R I RE 18
C K% B 1 2 3 B | af | 8/4 XK =K va
=T THTC 60 16 7
| [ER A 1 1 0.5385| 2
NN B THTC 13
= 2. THTC 06 16 1
2 ,“ﬁ = 0 2 0.0769| 3
EH B 7 — 13
; : TEAM C 61 61 12
g [BE AR 2 0 0.8571| 1
sy = TEAM C 14
D K4 & 1 2 3 4 B | at | B/« K [=Xiv
NAE B SFE0_ o 25 53 52 12
) L s S et 2 1 0.5455| 2
RE B& Y74 XTC 22
R B TDK 5 2 53 53 15
, [ER_A 3 0 0.6522| 1
B BB 21— FETTA 23
B ANE KC'S 35 35 35 9
5 [FFE HE _ 0 3 0375 | 4
NG Fz B KRB ZEER 24
o5 K A 25 35 53 10
4 WE B waffz_ 1 2 0.4348| 3
873 = FNEHIEAT 23
E K% @ 1 2 3 B | af | 5/4 = [[=Xiva
B oo TDK 06 36 3
i AN 0o | 2 02 | 3
AR B—B |74 XTC 15
i IR 60 16 7
2 Fﬁ_ﬁf'? t’ REX 1 1 0.5385| 2
kB RE J REAR 13
= =& 7y — 63 61 12
3 B _FH I 2 0 075 | 1
EA4R HK ¥ 54 XTC 16
F K4 B 1 2 3 4 B | af | 5/2 = =K va
M ERE >y — 51 53 52 15
| |PUEHE% / 3 0 0.7143| 1
AR ERIR 7Y — 21
0 & LrvH>ZTC| 15 35 25 6
2 Wf‘f’_ s Ak 0 3 02857 | 4
Bk K Loy B> XTC 21
T Fgyns—2 35 53 53 13
3 |ZF =S R 2 | 1 0.5417| 2
WE L Fay/8—X 24
s A Z<—LTC 25 52 35 10
g B MR " 1] 2 0.4545| 3




ZFTE)—T

A K% il 1 2 3 4 B | a% | B/ % [=iva
= & 7 — 05 25 05 2
| B BT 0 3 0.1176 | 4
WNE BF 71— 17
%A 2 B..TENNIS 50 51 15 11
2 — 2 1 0.6471| 2
TE fLE MHEE 17
% ALTF 52 15 05 6
3 [B *{%% 1 2 0.3333| 3
TR OEMTF AAC 18
NEE KT o —>TC 50 51 50 15
g [PER sl : 3 | o 0.9375| 1
EBE ¥ BEY—Y% 41 FTC 16
B K% & 1 2 3 B | g% | B/4 K [=iva
= AAC 62 36 9
1 fm lE 1 1 0.5294| 2
mE EFF MR ENR 17
58§ Lx v ¥ 2TC| 26 26 4
) 2 AT i 0o | 2 0.25 | 3
A Ex inty + 10
% = B..TENNIS 63 62 12
g [P HET 2 0 0.7059 | 1
KE %R TEAM C 17
C K# i@ 1 2 3 4 B | 8% | B/42 B JERz
O s il 05 05 05 0
il T‘ ¥ wills 0 3 0 A
BH BT GTO 15
& Bx ERAEETC | 50 5 4 52 15
p R s PER SR 3 | o0 0.7143| 1
M §54 F KC'S (7) 21
Mt AEE k#5774 —ATC| 50 45 35 12
g [P EER 7 1 2 0.5455| 3
IR &F ALTF (7) 22
= 5% #N/A 50 25 53 12
g 1P ZET / 2 1 0.6 | 2
HR 2F BmFEO—> 20
D K% 8 1 2 3 4 B | a8 | B/ X JEiz
KB BE RTC 53 50 45 14
R ih 2 1 0.6364| 2
g KT AAC (7) 22
+A = TEAM C 35 50 51 13
2 *Ea -7 . 2 1 0.6842| 1
BE & #3354 XTC 19
ANl BF  |a—-tEeFTA 05 05 05 0
3 22 ’ o | 3 o | 4
A T AAC 15
F| EE THTC 5 4 15 50 11
4 5_HI ki 2 1 055 | 3
=F LIH THTC (7) 20
E K% & 1 2 3 B | g% | B/ K [=iva
O£ EIRAHEBTC 46 46 8
1 W EETF B ETEbT 0 5 0.4 3
Al BET AAC 20
= 2% HEAITC 6 4 61 12
) 2P 25 7 2 | o 0.7059 | 1
REEE ER LHEFITC 17
= mE SESTC 6 4 16 7
y B8 _BET ? 1 1 0.4118| 2
ARA EBEF |KER—TC 17
F K% i@ 1 2 3 4 B | 8% | B/42 x JERz
5% BRE 1—kETTA 15 53 35 9
|7 P hey 1 2 0.4091| 3
MEE E@RR (77— 22
=H AAC 51 50 51 15
o [EH BT 3 0 0.8824| 1
Ah OEH KC’S 17
ki B 71— 35 05 05 3
3 [EF BT 0 3 0.1667| 4
R & 7V — 18
NI = LxwH2RTC| 53 15 50 11
g [PEE BF 777 2 1 0.5789| 2
REER EHEE |[Fav/—X 19




